
It’s Friday!

Counting coins



Introduction

Complete the missing numbers.
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0, 2, 4, 6, , , ,

0, 5, 10, 15, , , ,

0, 10, 20, 30, , , ,

10, 12, 14, 16, , , ,

15, 20, 25, 30, , , ,

20, 30, 40, 50, , , ,



Introduction

Complete the missing numbers.
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0, 2, 4, 6, 8 , 10 , 12 , 14

0, 5, 10, 15, 20 , 25 , 30 , 35

0, 10, 20, 30, 40 , 50 , 60 , 70

10, 12, 14, 16, 18 , 20 , 22 , 24

15, 20, 25, 30, 35 , 40 , 45 , 50

20, 30, 40, 50, 60 , 70 , 80 , 90
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Varied Fluency 1

How much is there altogether?
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Varied Fluency 1

How much is there altogether?

12p =

7p =

35p =
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Varied Fluency 2

The amount is 22p. True or false?
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Varied Fluency 2

The amount is 22p. True or false?

False. There is 24p altogether.
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A B

Varied Fluency 3

Which group of coins is worth the most?
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A B

Varied Fluency 3

Which group of coins is worth the most?

B is worth the most.
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A B C

Varied Fluency 4

Which is the odd one out?
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Varied Fluency 4

Which is the odd one out?

A CB
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Reasoning 1

Jamie thinks he has 27p in his purse. Is he correct? Prove it.
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Reasoning 1

Jamie thinks he has 27p in his purse. Is he correct? Prove it.

Jamie is not correct because 5p + 5p + 5p + 5p + 5p + 5p + 2p = 32p
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16p

Problem Solving 1

Circle the coins needed to buy the onion.
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16p

Problem Solving 1

Circle the coins needed to buy the onion.
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47p

Reasoning 2

Freddie want to buy a pineapple. 

Does he have enough money? Explain your answer.
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47p

Reasoning 2

Freddie want to buy a pineapple. 

Does he have enough money? Explain your answer.

He does not have enough money because 

10p + 10p + 10p + 10p + 2p + 2p + 2p = 46p.

He needs 1p more.



Challenge time!




